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#write Mmatlab program to print the number from 1 to 5@

counter=1;

while counter<=58
counter
counter=counter+1;

end
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Zwrite Matlab program that computes Multiplication Table for a number n and given by the user.
n=input('Enter the number\n®);
counter=1;
while counter<=16
result=counter®*n;
fprintf( * %d*, n )
fprintf( "* %d", counter )
ftprintf (" The Result is : ¥d\n', result);
counter=counter+1;
end
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% write Matlab program to check if the number entered by is even or odd
number=input (' Enter number: ');
if rem(number,2) ==
disp( "Number is even')
else
disp( "Number is odd')
end
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a 50
b 33
if (b > a)
disp('b is greater than a‘)

elseif (a == b)
disp('a and b are equal®)

else
disp('a is greater than b")
end
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Income=input('Enter the total income: '};
if(Income<1200)

Tax=0.89;

elseif(Income<2260)

Tax=0.12;
else

Tax=0.15;

end

disp([‘'Net income: ',num2str(Income®(1-Tax))])
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Syms X y Z
[x, ¥, Z] = solve(z == 4%*x, X == y+4, Z == X2 + y*2)
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n = 16ee; % Length of Array
n positive=0; % how many positive number in array
a=randn(n,1); % Create a random array with n row and 1 coulmn
for 1 =1:1ength(a)

if (a(i)>e) % test if arry member (i) positive

disp(a(i))
n positive=n positive+l;

end
end
n_positive




Ex (1) solution :

34+ 11X — 2X%3
Xq ¥+ X2 —.'2‘.){3
Xg — Xz + X3
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aX-b=0
aX =Db
> = inverse{(a)=b

HE ]

a=[311-2:11-2:1-11);
b=[7;4;19)
X = inv(a)"b
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1 a=[3 11 -2;1 1 -2;1 -1 1];
2 b=[7;4;19];
3 x=inv(a)*b;
4 display(x)

Command Window

New to MATLAB? See resources for Getting Started.

>> linears

13.2188
-2.3438
3.4375

>» x=a\b

b —
13.2188
-2.3438

3.4375

>




